] \ ]

A

Ce) 15!!!!!_

e[:-/ @C)C)C O( )C)C)( DCO |
] COCOCOCOHCOHCOCOCOHCHCD
C OC HC HC OC DC OC HC DC D)
COOOCOCOCOCOCOCOHCOC
C OC OC HC HC DC DC HC DC D |
@@@@@@@@@@

1 - i 1
Explore Overlander Light
ltem Qty Partname Mounting
1 2 Spring latch 4 x M5*12 Pin-Tx (2x)
2 2 Protection plate 2 x M5*8 hex (2x)
3 2 Hinge 2 x M5*10 Pin-Tx (2x)
4 (optional) 2 Airline rails M5*8 PVKK




	Sheets and Views
	Sheet1


